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2. J-Distribution fr(x) = 7x°0<x <1
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P = Al.ffx(X)dx;i =1,2,3,4

W8e E;=np =80p,;i=1,23 4
P.. f2xdx 1/16 3/16 5/16 7/16
A' .
E, 5 15 25 35

P - A,f7x°dx 6.10351 x 10" 7.75146 x 107  .12567138672 8655161133

E: .00488 .62012 10.05371 69.32129

n. mr‘i‘tﬁ'mﬁud'}na;smi:mmﬁmmanmau.zuu Triangular

Ho:p. = 1/16, py = 3/16, ps = 5/16, p, = 7/16

H, : pi # 1/16, p, # 3/16, p, # 5/16, pa # 7/16
arwifiusfanaurzaNiifinenaneTUIINgIIN Triangular Dist™ ™
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E. 5 15 25 3
o ¥ X, - By
W e s X EN
i E,;
L] ’ - 2 - 2 — 1
_ 6=5 8- (20~25 (% - 3)
5 15 25 %
= 1828

IINANTN o2, = 7.815
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v
=z ONUUdx =2dzURS — 0 L2 -~ 1.5

=> plu - I—IAS

-~ 0o

- L5
_\f_lz_?_e-m‘. = _Wf f, (x) dz

P {Z < - 15 = .06681

Turusadeaiu
-1
po= | f@dz=Pr{z <~1}~Pr{Z<-15)
= 1587 - .06681=  .09189
-.5
o= [ fidz= Pr{Z<-5}-{Prz 6 -1} = 3085 - .1587

0
Pao = ‘Sf f.@) dz=P(Z<0} ~Pr{Z <—.5=.5000 = 3085

.5
S t@a=rz<s)-m{z<0= 6915 500

Pse =
1

bo= [ t@dz=  Pr{z<1}-Pr{z<s}= 8413 - 6915
1.5

Pro = ,f fo@ dz = Pr{Z <1.5} = Pr {Z <1) = 93319 ~ .8413

0

Deo = 1.5f f(z) dz = Pr {Z < oo{ - Pr{z <15 =1 - 93319

[ o
AIUB A p, WRZ Esi = 1,2, ..., 8 Ungaaeseae i

pi. 06681 09189  .1498 1915  .1915 1498 09189  .06681

E, 66.81 91.89 1498 1915 1915 1498 91.89 66.81
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X, 60 - 9% 140 210 172 160 - 88 74
E, 66.81 9189 1498  191.5  191.5 1498  91.89  66.81
,_ (60- 6681 96 - 9189 (4 - 66.81)"
Xe 66.81 91.89 66.81
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H, : p, #16/100, p, # 48/100, p, # 20/100, p, # 16/100
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